
1�8g��

1. � f(x) = 2̄x2 + x+ 4̄, g = 3̄x3 + 5̄x, h = x+ 3̄ � Z6[x] ¥�õ�ª. O� fg, gh§¿

�Ñ§��gê.

2. � f(x) = x2 + x− 2 = (x− 1)(x+ 2) ∈ Z[x]. ©O¦

(1) f(2); (2) f(ā), ā ∈ Z3; (3) f(A), A =


1 1 0

0 1 1

0 0 1

 .

3. � F ´�§a, b ∈ F, a 6= 0. � f = anx
n + an−1x

n−1 + · · · + a0 ∈ F [x], an 6= 0. y²

deg(f(x)) = deg(f(ax+ b))§¿O� f(ax+ b) �Ä�Xê.

4. �dA|7-�êÆÚØ£1�ò¤1 161 �µ1.

5. � F ´�.

(1) � a, b ∈ F � a 6= 0. y²: N�

φa,b : F [x] −→ F [x]

p(x) 7→ p(ax+ b)

´l F [x] � F [x] ��Ó�.

(2) � σ : F [x] −→ F [x] ´�Ó�� σ|F = idF . y²: �3 a, b ∈ F � a 6= 0 ¦�

σ = φa,b.
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